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Q 
Grade 

score 
Annotation 

1 A4 

This candidate has received an A4 grade because they have: 

• correctly identified two of NZ’s top exports by value

• shown a decrease in world price on Graph One

• explained how the dairy industry is worse off (e.g. A fall in world demand
will result in a lower price and less income for dairy farmers.)

• explained the impact on the Current Account (e.g. A fall in world price will
result in a lower exports/Balance on Goods and, therefore the Current
Account deficit will increase or the Current Account will be worse off.)

Making a detailed explanation of how the dairy industry is worse off from a lower 
world demand for dairy products OR a detailed explanation on the impact of falling 
dairy prices on NZ’s Current Account deficit, combined with integrating changes 
made from Graph One, would have resulted in M6.  

2 A4 

This candidate has received an A4 grade because they have: 

• correctly shown a decrease in the demand for the New Zealand dollar in 
Graph Two

• stated New Zealand dollar depreciates/price falls

• explained that lower demand for New Zealand dairy exports will result in 
lower demand for $NZ

• correctly shown a decrease in the demand for the New Zealand dollar in 
Graph Three. 

Making a detailed explanation of the impact on the value of the NZ dollar of 
decreasing demand for New Zealand dairy exports, including reference to Graph 
Two, would have resulted in an M6 grade. Note: A detailed explanation must 

include the idea that less currency is now converted/exchanged because of the 

lower demand for exports. 

3 A4 

This candidate has received an A4 grade because they have: 

• correctly showed a new trade price between PNZ and PA.

• explained how New Zealand tomato growers are worse off (e.g. as a result
of the lower price, New Zealand tomato growers receive less income, and
are worse off.)

• explained how New Zealand tomato consumers are better off (e.g. as a
result of the lower price, New Zealand tomato consumers can purchase
cheaper tomatoes and are better off.)

• explained how New Zealand fruit and vegetable retailers are better off (e.g.
as a result of the lower price, New Zealand retailers are selling more
tomatoes and are better off.)

Giving a detailed explanation of how New Zealand tomato growers are worse off 
OR New Zealand tomato consumers OR NZ fruit and vegetable retailers would 
have been better off, integrating the changes shown in Graph Four, would have 
resulted in M6. 


